
Aufgabe 1: Fülle die Lücken aus Lösung:

a) 6 8 2 7 a) 6 8 2 7 6827
+ 3 2 6 7 + 3 2 6 7 3267
+ 8 9 3 8 + 8 9 3 8 8938
1 9 0 3 2 1 9 0 3 2 19032

b) 6 1 9 7 b) 6 1 9 7 6197
+ 4 7 9 6 + 4 7 9 6 4796
+ 3 2 4 1 + 3 2 4 1 3241
1 4 2 3 4 1 4 2 3 4 14234

c) 1 3 5 0 c) 1 3 5 0 1350
+ 0 3 5 + 0 3 5 35
+ 5 2 0 7 + 5 2 0 7 5207

6 5 9 2 6 5 9 2 6592

d) 7 7 0 0 d) 7 7 0 0 7700
+ 1 8 6 + 1 8 6 186
+ 1 6 2 7 + 1 6 2 7 1627

9 5 1 3 9 5 1 3 9513

e) 8 0 0 2 e) 8 0 0 2 8002
+ 2 2 0 3 + 2 2 0 3 2203
+ 2 5 3 1 + 2 5 3 1 2531
1 2 7 3 6 1 2 7 3 6 12736

Aufgabe 2: Fülle die Lücken aus Lösung:

a) 1 2 0 8 1 a) 1 2 0 8 1 12081
- 7 3 1 - 7 3 1 731
- 7 6 5 5 - 7 6 5 5 7655

3 6 9 5 3 6 9 5 3695

b) 1 3 0 5 5 b) 1 3 0 5 5 13055
- 6 1 0 4 - 6 1 0 4 6104
- 4 5 8 7 - 4 5 8 7 4587

2 3 6 4 2 3 6 4 2364

c) 1 4 8 2 8 c) 1 4 8 2 8 14828
- 3 5 3 9 - 3 5 3 9 3539
- 6 2 5 8 - 6 2 5 8 6258

5 0 3 1 5 0 3 1 5031

d) 9 9 0 9 d) 9 9 0 9 9909
- 5 7 2 2 - 5 7 2 2 5722
- 1 5 9 8 - 1 5 9 8 1598

2 5 8 9 2 5 8 9 2589

e) 1 5 6 4 3 e) 1 5 6 4 3 15643
- 7 7 5 9 - 7 7 5 9 7759
- 7 0 5 7 - 7 0 5 7 7057

8 2 7 8 2 7 827

f) 1 7 0 4 2 f) 1 7 0 4 2 17042
- 6 4 3 1 - 6 4 3 1 6431
- 3 5 5 5 - 3 5 5 5 3555

7 0 5 6 7 0 5 6 7056


